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I

Answer all the questions in OMR sheet. 

Choose the correct answer.OMR Sheets WV
Each question carries 1 mark.b I OMR Sheet 43 137#fs ^173 Subject Name, Subject Code 43^ 

Paper Code f^li^/^Pl 3>3£o 3731 OMR Sheet 43 f*K33 *TN3 

Subject Code Croat 43^ Paper Code f5 SfcMTE

3.1 OMR Sheet 43 f373Rfs ^173 Name, Roll number, Registration 

number, Regn. Session, Exam date 43° Exam Session 

3^3Uo 373 I

V!) I 3721 133^ 373 3^13] ^S3, 331433 (A), (B), (C) 43° (D) 333
(3<33l ^173.1 3f?3> &SC33 -33f5 %f/3373rt 3#fC^ <j3*t

3S3C5 3731

8 I "^3 C33cT3l4 ^33 34 wfK OMR Sheet-43 7^173 

33 ^3^ 333^ fes 373 I C33(3f I§3tt3 CW31 S>e'C33 RplJt33 373
• 311

1. Invalid knowledge is called —

(A) Paramarsa

(B) Prameya

(C) Aprama

(D) Pramana

! b I "®ft33 33t 33 —

(A) 33l3*f

(B) 3733

(C) ^#3t

t

(P) m*\
6 I *lffa3r% C333 3^3 OMR Sheet 43 (33131 (3131 3173 3t I •

(33(31313 ^I3ff|-^ XP3 C331 31 ^2(3 13731 3IN5# Rc^ ^13

'SRJ 3lft 313331
2. Who is the founder of Sariikhya Philosophy —

(A) Mahavira

(B) Gautama

(C) Kapil

^ I 331^1 (3173 ^3 34 (OMR Sheet) 3°1£lt ^13313733 R<^ ^?3l fcl 
331^1 C33£^3 31^(3 C373T£4.373 43° (33(31^173^ 3ff^t (337^3 3fe3 

OMR Sheet ft? ^131 3173 311
(D) Kanad

%f/3R73Tl 3^1 ^173^ 3^13 3T3^j3 <^3C^ ^73 I *lfh333733 
C3t3l^3 C333, 331^^63 ^l33t ^3-C^R^I 3J33J3 I

^ 1
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*1 at%#5T C<P?

(A)

(B) C^ssi

(C)

(D) Wt

8 I l^^'pro CW'S^ ■5TC^ '(/Wat?! ^RJ ^*0 awfsi% —

(A) '5fl2T?RR>5 '5Rxt]^ Sf^ctWt‘>1J ^

(B)

(C) f5[^ 1RS3J® ^

(D) ‘A’ ^ ‘C’ 'S'sil$, I
3. Satva, Raja and Tama are attributed to —

(A) Purusa

(B) Prakriti

(C) Brahma

(D) God

\!> I ?TS?o 'G vs'SIS 2ri% ^ ?

5. The argument “All men are mortal, Socrates is a man, therefore Socrates is 
mortal” is —1

(A) Inductively strong

(B) Deductively cogent

(C) Deductively valid

(D) Inductively true

^J5 Wl%T ^H5, ^ 'sract%T — ^6 I
*jfe=fD —

(A)

(B)

(C) 3TSff

(D) ^

(A) ^

(B)

(C) fcrc
(D) ^

4. What must be the case for an argument to succeed with a rational person ?

(A) The premises must be acceptable

(B) The conclusion must be acceptable

(C) The premises must logically support conclusion 

P) CA’ and ‘C’ both
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8. How many padarthas are accepted by Vaisesikas ?6. Vyapti can be properly defined as —

(A) invariable concomitance

(B) causal relation

(C) sequence

(D) occasional relation

(A) 2 (two).

(B) 7 (Seven)

(C) 4 (Four)

(D) 6 (Six)

*

V I ^ —

(A) %

(B) ^

(C) m

^ I <ljR2?r —

(A)

, (B)

(C)

(D) 7p=>s# (D) W

9. According to Nyaya “Ice looks cold” is an example of —• 7. According to Nyaya, nirvikalpa pratyaksa presents —

(A) bare objects without any characterization

(B) objects with its characteristics

(C) only characteristics, not objects

(D) analysis of the attributes of object

H I RRwq<t> —

(A) ^

(B) ^

(C)

(D) RtSM

(A) Samanyalaksana pratyaksa

(B) Yogajalaksana Pratyaksa

(C) Paramarsa

(D) None of the above

^ l ^q>{ic<i ^ i<k>i3 ,&tT^c! —

(A)

(B) Wt

(C)

(D) 'TTJ

!

i
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10. Samkhya Satkaryavada is also known as 12. Samkhya believes in —

(A) Prakrti-Parinamvada (A) theism

(B) Vivartavada (B) atheism

(C) polytheism(C) Arambhavada
(D) monotheism(D) Brahma-Parinamvada

b* i mm —

(A)

(B)

(C)

(D)

t
(A)

(B)

(C) 

(P)
13. Who propounded the concept of existential import ?11. Which of the following is true about Purusa ?

(A) Pure and transcendental consciousness

(B) Ultimate knower

(C) Pure subject

(D) All the above

(A) I. M. Copi

(B) Carveth Reid

(C) George Boole

(D) John Venn

bvs | qBPtt C<f> ^<R ?

(A) i£W.

(B)

(C) ^sf <p

(D) OoR

(7FRT5 —

(A) o^Ti

(B) ^

(C) 

p)

bb I
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14. Each part of a truth functional proposition is called —

(A) Condition

(B) Component

(C) Conclusion

(D) Content

16. is the basic unit in all societies.

(A) Community

(B) Family

(C) Group

(D) Institution

1 —. 5^ I
(A)

(B) ^*IRR

(C) f

(D)

(A)

(B)

(C) c^irSt

(D) stf^rR

15. Which of the following is a political ideal ?

(A) courage

(B) wisdom

(C) . fraternity

(D) kindness

17. Membership in a caste in the society is obtained —

(A) by birth

(B) by socialization

(C) by giving money

(D) by membership in an association

. 551 c<pl^fD

(A) Rt3?I
(A)

(B) rr

(C)

(D) ^RJ C^R ’STRFR Sft'Q

(B) ^1R

(C)

P)
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20. Democracy is the Government of the people, by the people, for the people 
who made this statement ?

18. Socialism —

(A) - favoured private property

(B) were against private property

(C) favoured individual controlled property

(D) regards private property as a solution of all problem

(A) Aristotle

(B) Lincon

(C) Saint'Simon

(D) Carlyle

| ^rl 'SRI

(A)

(B) PH4R

(C) (7f£ f^RRt

(D)

. bb-i —

. (A) ^

(B) RpRlffol 4C3

(C) ^P^ffe

(D) RWPt RRPfPl 'SPR 4(R

•1

19. Who is the supporter of Scientific Socialism ?

(A) Plato 21. In which of the following proposition both the subject and predicate terms are 
distributed ?

(A) some glitters are not gold

(B) no glitters are gold

(C) some glitters are gold

(D) all tine glitters arc gold

(B) Thomas More

(C) Marx

(D) Lenin

i fivttrtRro ^rc*u C4 t-
(A)

(B) ^m
(C) sittf

(D) C*rf^TC
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^ I (R>R fepU '■Q <Ut*iJ —

(A) (R>R C^R b<fbC<p ^ *T?T (TIM

(B) (R>R b<^bC<f> ^ (TIM

(C) C^R (^jR b<£bC<T> ^ ^ (TIM

(D) R^T t><£bC<£ ^ (TIM

22. In which of the following syllogistic forms involves the fallacy of undistributed 
middle ?

(A) AAA in third figure

(B) EIO in first figure

(C) IAA in third figure

(D) AAA in second figure

I RJK?R —

(A) AAA — ?R^R

(B) EIO — sm R^R

(C) IAA —

P) AAA — I^StS Rn^R

I ~ (A -S) 4f5 C^R 3vSk>lR]\s ?ft*f —

(A) Mft <3 *m PPW ^ Rt

(B) Mft <3 *tjR ^ ^

(C) i£PR R?f (Tf ^ WM *IJTSI 

P) ^ M ^ *tjR Pl^ i
24. The figure of a syllogism is determined by tire position of the —

(A) major term

(B) minor temi

(C) middle term 

P) copula

. ^8 | ^t?R RRt Mt^R W^R —

(Aynw *r

(B)

(C)

p) RsTRRM

25. Which one of the following statements is correct ?

(A) A conjunctive statement is true if both of its conjuncts am true

(B) A disjunctive statements is true if both the disjuncts are false.

(C) A conditional statement is false if the antecedent and consequent are

23. Which of the following can be symbolised by ~(A-S) ?

(A) Sathi and Shyam will not be the teacher

P) Sathi and Shyam will not both be the teacher

(C) It is not the case that either Sathi or Shyam will be the teacher

P) Neither Sathi nor Shyam will be the teacher

true

P) The truth value of a proposition is same with its negation
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(A) ^p jrccJnPfa >w ^i
(B) ^P f33*W fejjt ^ 35^ w ^ l

(C) ^ *p< 'G ^spf TfvsJ 38 ^l3fp| gftf^F 355? ft^ljt ^ I

(D) t£)3® <10C«i<l >f\sj*Mj <3 1%W> 3OT3 >l^j^jj ^ 3£3 I

26. Which type of change in gnnas causes the starting of evolution ■■—

(A) Heterogeneously

(B) Homogeneously

(C) Harmoniously

(D) Sarupa-parinam

^ I 1% ^rfv§)3 3>S3 —

(A) t3Wf€)3 ^##1

(B)
#

(C) 43>J33i

(A) 'oiRtjI

(B)

(C)

(D) C3W1

'

;28. According to Vaisesika school, the Universal "Cowhood* is

(A) eternal, one and residing in many

(B) non-eternal, one and residing in many

(C) non-eternal and many
»•

(D) eternal and many

^ i t^ifw ^srctrc^ >rt3i3j 'em' ^ —
(A) *IWs, ^ 43^ 333 ^31 ^1H

(B) ^T*tW^, ^3> 43\ 333 3^3t3

‘ (C) 43^ 33

(D) *iWs 33

29. What is the relation between two propositions if one is the negation of the 

other i.e. they cannot both be true or both be false —

(A) Contrary

(B) Sub-Contrary

(C) Sub-alternate
* i

(D) Contradictory

(D)

27. Wliich of the following is a component of Pararthanumana_

(A) Avidya

(B) Paramarsa

(C) Upanaya

(D) Vedana
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vsb I ^ 3£=Ti —

(A) ^Ift 'Q

(B)

(C)

(D) <ufeR^ ft^Tf

^c?> l ^ <^\ ^^fg- <jt?Of<J 331, vst^T vstUr^ ft ■yp3^ <i^R
^ItW ^jofk <jf^ Tp?fg Tpsj ^I^Rt ^ ft^lJt *Tf

(A) ft^tfte

(B) ftdSte
(C) ^TO

(D) ft<^^
32. Which of the following is not identified as a defining feature of culture —

(A) culture is shared

(B) culture is transmitted

(C) culture is symbolic

(D) culture is learned

;
30. An inductive argument is intended to provide 

(A) valid support for its conclusion
• t

‘(B) probable support for its conclusion

(C) invalid support for its conclusion

(D) probable support for its premises
^ I ^ ^Tf —

(A)

(B) 7T\f{%

(C) tfitft

(D)

4Vo | i£|^>fg 2RR <^03 FR ?

(A) felecis
(B) ,

(C) fmmz
(D) 7TSRM

33. What are the two basis of community ?

(A) moral and political consciousness

(B) locality and community sentiment

(C) we-feeling and role-feeling

(D) group awareness and community awareness

31. Culture is usually assumed to be —

(A) fixed and static

(B) always changing

(C) mutually exclusive

(D) a subjective entity
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v<t1

(A) sijft

(B) 1% fSM£

(C)

P) WWf

'©'£> I *jfi> ftft 1% ft?

(A) 'Q c^qt

. p) 'Q

(C) i£PR

P) c^t 'Q c^ft

34. To stand in a queue in a ticket counter of a station is a 

(A) gesture 

P) Rile 

(C) custom 

P) culture

c^xl^ fufts <t#Bt *rfe?r Tfnsfatt —
(A) ^

. P) 1%5J 

(C) 'a«lt 

P)

35. The phrase ‘Cultural lag1 was first coined by —

(A) Maclver 

P) Gisbert 

(C) Tylor 

P) Ogbum

<

36. Who tliinks that ‘Sarbodaya’ is the goal of changing the society ? 

(A) Binoba Vabe 

P) Swami Vivekananda 

(C) Mahatma Gandhi 

P) Sri Aurobinda

1

'S'k | «TO (3s W ?v08 I

(A) ft/TRt v»R?4

P) ^ftf RwH'H

(C) ^hi ^trft 

P)

37. In direct democracy who can take active part in the government ? 

(A) elected representatives 

P) all people of the country 

(C) only educated people 

P) only honest people
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NS<5» I

(A) rR WRuJt v^RptJI 4$f( fen

(B) ^ R^ <[# \s<£Rvrjt ^¥5 RssH

(C) s®ltRf*lJWl'(R ^Rtyt R^ft

(D) wf5

VSH | 3W^ Sfcjv^ (^ TrfSfi^ v5T^*f$^cf

(A) RriiRvs

(B) OTF'tR ^5

(C) (RR«TO$ f*lf^s 'sRp

(D) (RRc^sftf) 7^ 'srf^f

38. In the statement 'Milk is white’ the relation between milk and white, according 
to Vaisesika, is a case of —

:

40. Sarhkhya believes that the evolution of the world has its starting point in the 
contact between —

(A) Self and infinite material

(B) Purusa and Prakrti

(C) Finite material and infinite material

(D) Prakrti, Purusa and self

so 17fR*u Rr?sft R<j^r ^miR^ R> R> ^ —

(A) ^rPit 'Q ^

(B) 'G

(C) ?$R 'G ^

(D) SFpR, 'G

\

(A) Sarnyoga

(B) Svarupa

(C) Tadatmya

(D) S am a v ay a

vSbr | fcrc*tfW Tt*R W& RR 3R W’ — ^ ^ <3 Tfim <m f%?

(A)

(B)

(C)

(D) ^TSRtR
41. Which of the following is not a kind of perception in Nyaya-Vaisesika ?

(A) Laukika and alauikika

(B) Savikalpaka and nirvikalpaka

(C) Samanyalaksana and Jrianalaksana

39. Which of the following is truth functional proposition —- 

(A) If logic is not an art then logic is a science 

• (B) I believe that logic as a difficult science 

(C) Necessarily logic is the science of reasoning
(D) Vahya and antara

(D) All the above

Turn Over
( 22 )4/109-11400 ( 23 )4/109-11400

UGB_UG_Question_Philosophy General _Part-II_ Examination_2018

Digitized by the Librarian, Central Library, Malda College, Malda on 21st june, 2019, Page -12 of 20



4j. In propositional logic, which of the following is equivalent to p=>q ?

(A) ~ p 3 q

(B) ~pvq

(C) ~ p v ~ q

(D) p=>q

S'® 1 wtsfWl RvtPlRvs p zj q i£)<( —

(A) ~ p=> q

(B) ~pvq

(C) ~p v ~q

(D) p=>q

8i i Rrtn w^s aw^

(A) (.sTlRxt1 's)(.=ni4<!)

(B) ->iR-q>?i<ii« RRw<t>

(C) RtRRj 'Q WR

(D) 'Q '5ft^

■;42. Which of the following propositions is tautology —

(A) (pvq)z>q

(B) pv(q-=>p)

(C) pv(pz>q)

P) both ‘B’ and ‘C’ 44. The reasoning that uses general principle to predict specific result is called —

(A) inductive
♦

(B) deductive
8 ^ i c^Rf5 ?

(A) (pvq)zDq

P) pv{q=>p)

(C) both ‘A’ and CB’

(D) hypothesis

881 c<fr ^ m wv straw <ra?

(A) ^rrarrs;

(B)

(C) ‘A’ 'Q. ‘B’ ^5?$

(D) aw

(C) pv(p=>q)

P) both ‘B’ and ‘C!
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45. The defining feature of a valid deduction is its —

(A) vagueness

(B) indefiniteness

47. The sum total of the objects to which the term

(A) connotation

(B) denotation

(C) meaning

(D) function

can be applied is its —

(C) certainty

(D) narrowness i
8^ i ?rm<i8<£ I —

(A)

(B)

(C)

(D)

Ii* 2n^rr-5{7<n5fj?'
(A) ®rtwi<

(B) wisf
(C)

(D) fen

particular *2 by ft22t "46. What is enough to prove the inductive conclusion false ?

(A) intuition

(B) assumption

(C) concept

(D) counter example

(A) Kant

(B) Weber

(C) Maclver and Page

(D) Green

8b- | ^re

(A) <FI%

(B) 'S'Ol<Hit

(C)

(D) fe

S'ts I feljt STSfH ^5RJ Rcbft (31^ fe# 7
(A)

(B) *tmt

(C) 21W

(D) g(f%

r? « t^sr 3.^ *5^

-tw <4 vA*>( 26 )4/109-11400
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49. When the we-feeling becomes excessive, it results in

(A) cultural relativism

(B) ethnocentrism

(C) cultural lag

(D) mental strain
;

■ (A)

(B) t§si

(C)

(D) 15t*f

!■

50. How many qualities are accepted by Kanada ? 

(A) seven
i
!'
|

(B) sixteen

(C) seventeen

(D) twentyfour

(to | M —

(A)

(B)

(C)

(D)

C 28 )4/109-11400
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P- II (1+1 +1 )G/18 (N)

2018

PHILOSOPHY (General) 

Paper : ll-B 

[New Syllabus]

Full Marks : 100 Time : Three Hours

The figures in lhe margin indicate full marks.

Answer eleven questions of 5 marks taking 
not more than four from each group.

Section - I

1. Answer any one from the following :

(a) Explain the Samkhya theory of evolution. 15

(b) Explain the nature of Vaisesika category of. 
Samavaya. How does Samkara critcise it.

10+5

(c) Distinguish between nirvikalpaka and savikalpaka 
Pratyaksa. What is the evidence of admitting the 
nirvikalpaka pratyaksa ?

)

15x1=15

10+5

2. Answer not more than jour from the following :
5x4=20i

(a) Write a note on Samanya-Laksana pratyaksa.

P.T.O.
4/110-11400
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t 2 )
( 3 )

of Prakriti.■,fcj) she ivaure
£) j'xnSflift thf different forms of Abhava.

(4) VhJfl is five-membered syllogism ? Explain with
example.

,(4) WTiat is Purusa in Sarnkhya philosophy ? How 

is the plurality- of purusa proved ?

(ft Discuss Sariikhya ‘Parinamvada’.

(g) Explain briefly the nature of the category of 

Samanya as admitted by the Vaisesikas.

(Si) p(pr) 

q/--r=>p

(b) What are the different criteria for appraisal of 
analogical argument ? Discuss. 15

2+3 (c) Test the validity of the following arguments by
5x3=15means of Venn diagram :

Cl) All - 3

(ii) EAO - 4

(iii) As you are not a graduate, you are not 
eligible for the post.

4. Answer not more than four from the following :
5x4=20

(a) What is existential import ? Give an example.

(b) Distinguish between deductive and inductive 
argument.

(c) What are the rules of obversion ?

(d) What is hypothetical syllogism ? Explain.

(e) What is material implication ? Explain with 
example.

(f) What are the different orders of ‘enthymeme’ in 
syllogistic arguments ?

(h) How does the Sarhkhya refute asatkaryavada ?

Section - II

3. Answer any one of the following :

(a) Use truth table to determine the validity or 
invalidity of the following arguments/argument 
form :

15x1=15

5x3=15

0) U->(VvW)

(V-W)z>~U/:.~U

(H) (pvq)=>(p-q)

(p^q)l--. p-q
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( 4' ) ( 5 )

fes R^5 CTO R'sffi ■ 
R?rf§<j c^t sro cwm to hi i

5 I R^RlRvs SI^Rr (R. C^H R^Q :

(g) What are the two senses of ‘or’ ?

(h) Explain the fallacy of illicit minor.

Section - III

5. Answer any one of the following :

(a) State and explain the main features of Caste 
system.

(b) What is Democracy ? What are the
characteristics of democratic ideals. ? 3+12

(c) What is ‘trusteeship’ ? Explain its implication
5+10

6. Answer not more than four questions from the 
following :

15x1=15

15

0*0 k#(M ‘wni’ tow
to i *tro wni {totcr

(?0 RRro<t> 'Q >iR<i>si<t> 3\sjc*+3 w.*$
TO I RR^?I4 SfTOf t%?

5$

after Gandhiji.
5o+£

5x4=20

(a) What is equality ? Explain.

(b) Write a note on social class.

(c) How community differ from association ?

(d) Write a note on Moral Code.

(e) Explain and examine liberal democracy.

(f) Explain the relation between liberty and law.

(g) “Society is the Web of social relationship” — 
Explain briefly.

(h) What are the defects of socialism ?

^o+d

\ I bRfS SftTO 3^3<\ R'Q :

(^>) TOlRJ W 3TO+ R*iG14 '§1^t C^T5! I

£x8=^o

d

(*i) .wt ^owjt toi

(*>[) *>TTO<J Rfe SfTO TOW TO l

(R) to TO4> toi ? to i

d

d

d
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( 7 )

0*0 'spiilOW ^WQ<s1% ^flRSFPR
( 6 )

(«) sflWHT?? '*&*!’ ft? W tf*IW STSTtf^s
^1 i<iVHORSI

W ft^P|R|\5 ^fe'GtsiS ^Sfat (.^WfbMS RRTt t%ts
<fcx\S=^<£

ft) ^\Kcm ‘^tfttmR’ w i

^jt^m <^i

(W) ?Ttv*iRl ft^tt^ ^C3"C^i
dice'll Ml ^ I

w I

Cl) All - 3 

Cli) EAO - 4

Ciii) (7K3^> ^ ^ NgfSf ^ (TITO
■

:

TO li-
ftsttf - *t

vS I PftPtRfts (71 C^R :
8 I v&wfft 2ft?SR Pft^3 :

ft) vSrf^^G^ ^K^R] ft? R'Q |

ft) \Rhl *fM%J (Tt^Q |

■(‘4) R<^C*^ ftR'Qft ft ft?

0*0 mfm rr ^rrr ^ ? ^jt^ijt ^ i 

ft) ^f? ^ut^ijt

(2;x8=^>oI

ft) ftws ^%V*jR^<l ^TRsf^ft^ ^spfR% RRftRJ 
ftR<I ^ :

(i) C/:d(FvPF)

(V-W)id~U/:.~U

(ii) (pwq)^(p-q)

(pvq)/:.p-q

(tXV=)><t

^1

ft) ftfw 2RR *R£M 3W$ft[ ft ft? <{fMft
^1

ft) “ssmt” *k«t<i # ft ft? ^it^m ^ i 
ft) ^4*1 *W OtR ^Jl^tJl ^f I(iii) p(pr) 

q/:.r^p
)P.T.O.
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( 8 )

<t 1 ^63 Wt'S :

■ (<$) m^u w i
*<*

(•^) ^fcl^ <Pt^i ?R^[? t#fer^r 1%
VS+^

(<5|) ^SSf f%? Stiffen ^f<H w
<H->o 

£x8=$o

t%?

. soffi ^&t -w i

^ | ^3 :

(<F) ^ <FtW <TC?f? ^IJt ^ i

(*!) C3% ^*i<T ffat C*N I

(*t) Wte ^ *KOTf *ft<#J (Trtte'l

(^i) wR*p f^fe 'Stal c^r*l i

(*&) wlafaRxi* WoGP ^JPUt 'Q 1%fa W I

(f) ^t5fasf ^ ^sifesra toj Tp35# ^iMil w i
(^) ^ ^ivsrH” — ^kotpi

^uHrf ^ i ‘ ’

(W) >i^1^\ocai<q 1% f%?
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